

## Multiply by $10^{-3}$ (H)

Find each product.

$36 \times 10^{-3} =$

$50 \times 10^{-3} =$

$66 \times 10^{-3} =$

$19 \times 10^{-3} =$

$43 \times 10^{-3} =$

$60 \times 10^{-3} =$

$44 \times 10^{-3} =$

$7 \times 10^{-3} =$

$97 \times 10^{-3} =$

$91 \times 10^{-3} =$

$71 \times 10^{-3} =$

$42 \times 10^{-3} =$

$64 \times 10^{-3} =$

$74 \times 10^{-3} =$

$38 \times 10^{-3} =$

$50 \times 10^{-3} =$

$30 \times 10^{-3} =$

$76 \times 10^{-3} =$

$89 \times 10^{-3} =$

$94 \times 10^{-3} =$